
QUIZ 14  OVERALL QUIZ 3 FINAL PREP 

1) 

 

     Reflects across y 

 

2)  

      log(2𝑥 + 4) − log(𝑥 − 7) = 1  

       
2𝑥+4

𝑥−7
= 101  cross multiply 

       10x-70=2x+4    

           6x = 74 

             x = 
37

2
  

3)  

 

     

           Find y when x is -14  

           Find y when x is -4   

    

   

 

 

   At x = 4 is the y value + or - 

 

 

     

   At x = -4 is the y value + or - 

 

     Look for the coordinates with ( ___, 0) 

 

 -6 

 6 

 6 

 -3 

 -12, -2, 8  



 

 

          

      

 The intervals above the x-axis with end   

         

      Most left point and most right point  

 

     Lowest and highest point 

      

          Where the graph touches the x-axis  

    Where the graph touches the y-axis      

  

 

      If you draw a horizontal line at 1     

 

      If you draw a vertical line at   

 

      Give x where y is -6 

 

     Give x where y is 9 

 

 

 

4)  

     6x + 4 = 23 

     6x = 4  x = 
𝟐

𝟑
  

 

 -12<x<-2, 8<x12 

 {x|-14x12} 

 {y|-6y9}   

 -3 

 3 times 

1  times 

 x =-14, 4 

- times 

 x = -6 

times 

 -12, -2, 8,  

times 



5) Solve the inequality 
(𝑥−5)2

𝑥2−9
≥ 0         

 *we check all the critical points on a number line   x = -3, 3, 5 

        Open at -3, 3 because bottom of fraction 

    -3  3 5 

 check #s    -4          0     4        6 

      +              -             +         +         we want all positive intervals 
  since 5 is solid and already included we don’t need to make a new interval  

     (-,-3)(3, ) 

 

6)  

      Let u = s + 5 

   5u2 – 39u – 8 = 0 

     u2 – 39u – 40 = 0   s + 5 = 8  s + 5 = -⅕  

     (u – 40)(u + 1) = 0  

      5                   5 

  u = 8,-⅕     s = 3, -5⅕ 

   

7)  

     Multiply by x2 first 

 

   2x2 - x - 5 =    does not factor 

     
1±√1−4∙2∙(−5)

4
  

     x = 
1+√41

4
, 

1−√41

4
 

 

 

 



8)  

 

 

   Plot the vertex using shifts 

 

 

 

9)  

 

   (x+4)(x-1)2 

   (x+4)(x2 – 2x +1) 

   x3 – 2x2 + x + 4x2 – 8x +4 

    x3 + 2x2 - 7x + 4 

 

10)  

      Factor the bottom using slide and divide 

 

        2x2 – 9x – 5 = 0 

      x2 – 9x – 10 = 0    

      (x – 10)(x + 1) = 0  

       2             2 

   x = 5, - ½    


